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%1 |FLUET 134 147 281 6 |YRAHRT 2 1 3
B2 ERET 203 216 419 fE HHAT 430 450 880
E5E1TH 101 112 213 B AR 394 4217 821
E5H2TH 141 145 286 ZHT 27 35 62
RGBT 186 239 425 i) 35 54 89
EXR3TH 237 230 467 KRIGHAT 51 49 100
HE1TH 85 91 176 KIHT 42 51 93
INEE 1,087] 1,180 2267 KA HET 304 333 637
g2 |(BHESTH 160 127 287 k=1 34 30 64
E5H14TH 220 232 452 TRERT1 T B 34 42 76
=T EE 145 175 320 TRERT2T B 315 314 629
=2t RE1TH 61 73 134 B A BT 31 24 55
BH/HET1TH 138 172 310 fRERT1TH 157 176 333
FaiER 32 24 56 fRiEAT2TH 180 214 394
BEE1TH 129 158 287 $REAI3TH 100 126 226
H{EE2TH 137 175 312 N 2,136] 2,326| 4462
H{EE3TH 101 143 244 $£7 KR 66 83 149
H{EE4TH 77 98 175 AERT4TH 97 140 237
XKESTH 47 51 98 SIRISTH 65 68 133
U\ 1,247| 1,428 2675 SRT4TH 56 62 118
$£3 |EXRE2TH 142 103 245 HEISTH 132 116 248
$RET1TH 91 113 204 1L EHT 181 190 371
fRET2TH 246 268 514 =AMW1TH 174 212 386
$RET3TH 377 426 803 =A¥2TH 229 254 483
AHERT1TH 138 141 279 =A¥3TH 184 260 444
AERT2TH 31 30 61 =AW4TH 151 167 318
EH AT 34 31 65 =i 45 46 91
AHERISTH 92 111 203 EHHET 119 132 251
ESHr 72 85 157 Li#&E2TH 9 10 19
INEE 1,223| 1,308 2531 EsB1TH 22 12 34
$F4 |fiET2TH 70 85 155 XE1TH 378 461 839
#tET1TH 64 84 148 XKE2TH 118 148 266
P 5y 39 45 84 KESTH 162 170 332
HEMET 75 99 174 INET 2,188 2531] 4719
SESFET 48 62 110 F8 |KMEHEI1TH 41 38 79
EXR1TH 35 58 93 X#HHT2TH 28 29 57
EXR2TH 84 112 196 Falr 83 85 168
F HERT 77 83 160 FHT 45 42 87
H EFHT 37 47 84 SIET1TH 36 52 88
BHT 253 323 576 SIRT2TH 37 55 92
HESH 23 20 43 BEHE 56 63 119
FAEEH 60 81 141 A BT 120 127 247
ali) 64 88 152 HET1TH 49 58 107
JnEET1TH 98 147 245 HET2TH 141 160 301
B2 TH 20 31 51 INET 636 709 1,345
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HE4TH 209 226 435 FE{ERE2TH 109 123 232
HESTH 174 219 393 FAEE3TH 246 292 538
HE6TH 106 120 226 F{ERE4TH 284 318 602
HE7TH 67 48 115 AR5 TH 2717 310 587
5F 72 80 152 XF4TH 196 247 443
HEEE1TH 124 145 269 KXES5TH 110 137 247
HER2TH 28 25 53 XFE6TH 245 285 530
EEHE1TH 265 274 539 XE7TH 280 317 597
EFHI2TH 194 198 392 XKESTH 450 529 979
EFHI3TH 204] 236 440 XKE9TH 109 91 200
EHFR4TH 152 156 308 FH{EREG6TH 32 41 73
EFHSTH 144 150 294 INET 2,870| 3,295 6,165
LER 46 50 96 F14 |EEE6TH 286 322 608
INEE 2,660 20984| 5,644 RER7TH 281 330 611
$£10 [B£1TH 71 80 151 R{EFE8TH 413 449 862
E4A2TH 14 33 47 INET 980 1,101 2,081
EBE43TH 304 353 657 15 (FEE1TH 241 231 472
BE4E4TH 138 152 290 $iE2TH 339 349 688
EASTH 457 594 1051 $E3TH 134 155 289
LER 444 522 966 #B4TH 150 143 293
LEBE1TH 67 101 168 #B5TH 212 234 446
LEFE2TH 267 304 571 #B6TH 268 276 544
LEBE3TH 393 447 840 #B7TH 429 430 859
F{EFE4TH 95 97 192 FH{EREG6TH 338 359 697
INET 2,250| 2,683] 4,933 F{ER7TH 390 443 833
E4AHAE2TH 294 308 602 FAEE8TH 428 548 976
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